## ID\_\_\_\_\_

## Midterm 3 –90 Points

You must answer all questions. Please write your name on every page. The exam is closed book and closed notes. You may use calculators, but they must not be graphing calculators. No cell phones. Do not use your own scratch paper.

## You must show your work to receive full credit

I have neither given nor received unauthorized aid on this examination, nor have I concealed any similar misconduct by others.

Signature

Suppose that you wish to predict housing prices as a function of lot size and floor space via the following specification:

 $\log(price) = \beta_0 + \beta_1 \log(lotsize) + \beta_2 log(sqrft) + u$ 

Here, *price* is measured in dollars, *lotsize* is measured in square feet, and sqrft (floorspace) is also measured in square feet. The results from estimating this equation are below:

a.) Using the 96% confidence level, test whether the coefficient on *log(lotsize)* is significantly different from zero. Please state your null and alternative hypotheses, and briefly interpret the result. (10 Points)

b.) Please construct and interpret a 98% confidence interval for the coefficient on *log(sqrft)*. Show your work! (10 Points)

c.) Suppose I claim that the effects of *log(lotsize)* and *log(sqrft)* are identical. Please state a null and alternative hypothesis, and derive an equation that allows me to test the null against the alternative. Show your work!! (10 Points)

d.) Suppose that we add the number of bedrooms, *bdrms*, and a variable, *colonial*, that takes on a value of 1 when the house is a colonial and 0 otherwise.

 $\log(price) = \beta_0 + \beta_1 \log(lotsize) + \beta_2 log(sqrft) + \beta_3 bdrms + \beta_4 colonial + u$ 

The results are below:

Coefficients: Estimate Std. Error t value Pr(>|t|) (Intercept) log(lotsize) 0.16782 0.03818 XXXXXXXXXXXXXXXXXXXXXXX log(sqrft) 0.70719 0.09280 XXXXXXXXXXXXXXXXXXXXX bdrms 0.02683 0.02872 XXXXXXXXXXXXXXXXXXXXX 0.05380 0.04477 XXXXXXXXXXXXXXXXXXXXXX colonial \_\_\_ Multiple R-squared: 0.6491, Adjusted R-squared: 0.6322 F-statistic: 38.38 on 4 and 183 DF, SSR=2.814

Suppose I claim that *bdrms* has a significant effect on *log(price)*. What is the probability that I'm wrong? Please state the null and alternative hypotheses, and show your work! **(10 Points)** 

e.) Is the model in 'd' preferred to the model in 'a'? If a hypothesis test is warranted, test this hypothesis at the 95% level, stating your null and alternative hypotheses. If not, provide other evidence for your answer. (10 Points)

f.) Dr. Spearot is in the market for a house, and would like one that is 1000 square feet in floorspace, 5000 square feet in lot size, 3 bedrooms, and a colonial (*colonial=1*). Please derive an equation that would allow me to estimate a predicted value for such a house with a standard error. Show your work!! (10 Points).

g.) Do the variables in 'd' tell use anything about the log price? If a hypothesis test is warranted, test this hypothesis at the 95% level, stating your null and alternative hypotheses. If not, provide other evidence for your answer.
(10 Points)

h.) Suppose that we use a different specification, regressing the log housing price on the log of the assessed housing value, *assess*.

 $\log(price) = \beta_0 + \beta_1 \log(assess) + u$ 

The results are below:

Coefficients: Estimate Std. Error t value Pr(>|t|) (Intercept) -0.25409 0.76353 XXXXXXXXXXXXXXXXXX log(assess) 1.01341 0.06046 XXXXXXXXXXXXXXXXXXX ---Multiple R-squared: 0.7656, Adjusted R-squared: 0.7629 F-statistic: 280.9 on 1 and 186 DF, SSR: 1.88

Is the model in 'h' preferred to the model in 'd'? If a hypothesis test is warranted, test this hypothesis at the 95% level, stating your null and alternative hypotheses. If not, provide other evidence for your answer. **(10 Points)** 

i.) Occupy Santa Cruz is angry about many things, but they are especially angry about the housing market. Whether they know it or not, they claim that housing assessments are unfair, in that the ratio  $\frac{price}{assess}$  depends on the value of *assess*. Using the results from 'g', please test this hypothesis as the 95% level, stating your null and alternative hypotheses, and briefly interpret the result. (10 Points)

	Normal Dist	ribution		
	_from _oo to	Z		
z		2		
Z   0.00 0.01	0.02 0.03 0.04	0.05 0.06	0.07 0.08	0.09
	0 0.5080 0.5120 0.5160			
	8 0.5478 0.5517 0.5557			
	2 0.5871 0.5910 0.5948			
	7 0.6255 0.6293 0.6331			
	1 0.6628 0.6664 0.6700			
	0 0.6985 0.7019 0.7054			
	1 0.7324 0.7357 0.7389			
	1 0.7642 0.7673 0.7704			
	0 0.7939 0.7967 0.7995			
	6 0.8212 0.8238 0.8264			
	8 0.8461 0.8485 0.8508			
	5 0.8686 0.8708 0.8729 9 0.8888 0.8907 0.8925			
	9 0.9066 0.9082 0.9099			
	7 0.9222 0.9236 0.9251			
	5 0.9357 0.9370 0.9382			
	3 0.9474 0.9484 0.9495			
	4 0.9573 0.9582 0.9591			
	9 0.9656 0.9664 0.9671			
-	9 0.9726 0.9732 0.9738			
	8 0.9783 0.9788 0.9793			
	6 0.9830 0.9834 0.9838			
	4 0.9868 0.9871 0.9875			
	6 0.9898 0.9901 0.9904			
2.4   0.9918 0.992	0 0.9922 0.9925 0.9927	0.9929 0.9931	0.9932 0.9934	0.9936
2.5   0.9938 0.994	0 0.9941 0.9943 0.9945	0.9946 0.9948	0.9949 0.9951	0.9952
2.6   0.9953 0.995	5 0.9956 0.9957 0.9959	0.9960 0.9961	0.9962 0.9963	0.9964
2.7   0.9965 0.996	6 0.9967 0.9968 0.9969	0.9970 0.9971	0.9972 0.9973	0.9974
2.8   0.9974 0.997	5 0.9976 0.9977 0.9977	0.9978 0.9979	0.9979 0.9980	0.9981
2.9   0.9981 0.998	2 0.9982 0.9983 0.9984	0.9984 0.9985	0.9985 0.9986	0.9986
3.0   0.9987 0.998	7 0.9987 0.9988 0.9988	0.9989 0.9989	0.9989 0.9990	0.9990